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The value of (chT HIT AT 'a:llll?)

2x7+140f4—-5+4x(9—11)+2 -2 x 6+ 8 of 3, is:

3172
4 1/4
21/2
43/4



SSC GD 2022-23

A driver drives a car at a uniform speed of 60 km/h and reaches the 330
km destination by 30 min late. To reach on time, the % increase in

speed will be:

Ueh TSR Ueh X <kt 60 TeRtft/eieT <Y Ueh Tum i & =rerar 8§ 3f 330
TeRtT Tictea oX 30 THee <3 & Ugerdr €1 90 W ugeH o fo1g Tid | % gty
FIT A2

a) 15%
b) 10%
c) 12%
d) 20%
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A boy who is 7 feet tall can cast a shadow that is 21 feet long on the
ground. How tall (in feet) is a man who can cast a shadow that is 15 feet

long?

7 WHIC T Ueh T1Seh shi STHI UX BT 21 HIE et 31 fohaa oia safvh (fire
o) T BT 15 I Tl 31 Ahd ! 22

a) 6.5
b) 5.5
c) 6
d 5
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A sum fetched a total simple interest of 5,427 at the rate of 9% p.a. in 6

years. What is the sum?

ferelt TTIT TR 9%, TR XA 6 T | 5,427 TUA T Hetl ATLRUT ST JATH
BT 71 TIST AT B2

a) ¥54,010
b) 10,050
c) %10,002
d) 54,270
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A person purchased a machine for 50,000 and fixed the marked price
20% higher than the cost price and sold it at a discount of 15%. The

percentage profit or loss is:

TS SqT<h 3 Teh W 50,000 TUX W TS R ifohd T o6l o6l Hed |
20% 3rferen fraifa foram o 38 15% st g o o= faam wiaera e ar
&1 1 shiteTu)

a) 1% loss

b) 2.5% profit
c) 4% loss

d) 2% profit
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Some articles are sold in such a way that the cost price of 60% of the

articles is equal to the selling price of 40% of the articles. The profit

percentage is:

HS TEIAN I 3H TR T AT ATAT § 1ok 60% TEIIT T T T 40%

TEQSAT o Torsha Hoar o STa ) SATH JTd9rd o T grm?

35 %
40 %
45 %
50 %



A's income is 25% more than that of B. B's income is less than A's

SSC GD 2022-23

income in percentage of:

A Y 3T B <hT 3T T 25% 3ATerR 21 B Y 31 A il 31 | Tera ufasra

A E?

a) 15%
b) 20%
c) 11%

d) 18%
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1f0.45:x::3:8, then x is equal to:
e 0.45: x : : 3 : 8 T, AT x ThEreh ITER RTT?

a) 1.3
b) 1.2
c) 14

d) 2.2
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Rohit and Manoj together have ¥1,320. If 10/21 of Rohith's amount

equals to 5/7 of Manoj's amount, how much amount does Rohith have?

Nfea 3R 7T & uTe farerment 1,320 9 ¥l Tfe Qfea 6 aidt &7 10/21,
TS Sht TTIT ok 5/7 oh TSR §, aF TTEd o UTH fehat TT9T 82

a) %320
b) ¥328
c) T792
d) %980




SSC GD 2022-23

The perimeter of a square is 64 cm. The area of a rectangle is 16 cm?
less than the area of the square. If the length of the rectangle is 20 cm,

what is the perimeter of the rectangle?

Teh Tt ST UNUTT 64 AT F| Teh AT T ITHE, I oh QFH O 16 AT
A 21 AT ATIA hT TS 20 THT B, a7 AT T TRATT AT 22

a) 12cm
b) 15cm
c) 18cm
d) 64 cm
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A person purchased a refrigerator for ¥18,000. After two years, he
spent ¥2,500 on its repair and sold it for 12,300. The percentage loss is:

Teh ST A 18,000 TUA W Teh TThsT @HET| ST T 1€, 3T SHehT AEAT WX
2,500 TUX @< foRT 3T 38 12,300 TU § s faam| ufsre g 2

a) 42%
b) 46%
c) 40%
d) 44%
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